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General Instructions :

(@)
(i)

(iif)

The question paper has 31 questions in all. All questions are compulsory.

Questions from serial number 1 to 10 are Multiple Choice Questions. Each question
carries 1 mark.

Questions from serial number 11 to 22 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 23 to 30 are 5 marks questions. Answer of these
questions should not exceed 120 words each.

Question number 31 is a map question of 4 marks from Geography only. After

completion, attach the map inside your answer book.
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1A.

1B.

1C.

2A.

2B.

frefafea § @ M @1 enfede fafmg 7€ 82 1

(a) AR A Yo (b)  YSil =1 YeTE
(c) AT T JAE (d) CRICIRCIE
Which of the following is not an economic exchange ?
(@) Flow of trade (b) Flow of capital
() Flow of knowledge (d) Flow of labour
3TUA/OR L
frefafiad & 9 fored, sheteran | eeil S[2 el st TmoeT i 2
(@) ST T (b) U3 THH E%
(©)  BREME AR d) femiiufee
Who among the following setup the first jute mill in Kolkata ?
(@) J.N. Tata (b) Seth Hukum Chand
() Dwaraknath Tagore (d) Dinshaw petit
3TUA/OR
oo BTE SATh STRHRRE e’ A J&ieh fhe foredt ?
. 1
(@  dgg Had (b)  =med feh
(€  He Reded (d) TR Al
Who wrote “The Bitter Cry of Outcast London’ ?
(@) Andrew Mearns (b) Charles Dickens
() Sameul Richardson (d) Henry Mayhew
freafafed § 9 = |1 qH=R o5 et TR o g yre fm T e 1
(@  hEd (b)  SEg
() =T (d) S AR A
Which of the following newspapers was started by Bal Gangadhar Tilak ?
(@) Kesari (b) Jansattu
() Statesman (d) Amirta Bazaar Patrika
3AYA/OR
Y & Ffafea o=l § 9 g & gue # 9 o6t <o feafq 1 g e
T E?
(@) Qe (b) e 1
© Ty (d) T H I RE =
Which of the following novels of Premchand deals mainly with the poor
condition of women in society ?
(@) Sewasadan (b) Godan
() Rangbhoomi (d) None of the above
frefafed § 9 %, g0 89 & F R W& 872 1
(a)  TRMEE = (b) T
() TSt ToReEed s d) AR fHEa
Which one of the following is NOT on the verge of extinction ?
(@) Asiatic Cheetah (b) Deer
(c) Pink headed duck (d) Mountain Quill
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frefafad # @ & o waa, S g o 98 S 22 1

(2) ATl (b) =

()  UEE= (d) o

Which one of the following crops is grown during the said season ?

(@) groundnut (b) muskmelon

() soyabean (d) mustard

g qUT T59 TRl o Afde, gfeead § TGl TR i I areil TR i 9 1
7

(@) AT TR (b)  THRTA TWHR

(c)  HHEIfaeh WHR (d)  Sfer "R

Apart from the central and the state Governments, which is the third type of
government practised in Belgium ?

(@) Local government (b) Municipal government

() Community government (d) Ethnic government

T S  Heensd H, Afeansti % fag foran wfawa oS emfaa €2 1
(a) 30% (b) 27% (0 50% (d)  33%

What is the percentage of seats Reserved for women in the Local bodies ?

(a) 30% (b) 27% (c) 50% (d)  33%

frafafaa <90 # 9 form | Aesie Sttad & Afgeredl st Geiiar 99 § &9 § ? 1

() FTET (b) SR () dWealeRd (d) 9a
Which one of the following countries has the lowest participation of women in
public life ?

(@) USA (b) Bangladesh  (c) Saudi Arab  (d) India

T SR, (HDI) 1 foqa &9 g7 1
(@ &g feufase g (b) YA SAIHE SSH

()  TEd SauE seug d) IO SacuHE TRA

What is the full form of HDI ?

(a) Human Derived Industries

(b) Human Development Index

() Highly Developed Industries

(d) Human Development Income

I Treror safireki 6 faehra wreieht @e o &1 Hend € 2 1

(@) A9 W F STIER FOH HL FI @Al
(b) M % AH faT SR B MR

© FM*fAwEaE

) =St ey aRfafa

What can be the developmental goal of landless rural labourer ?

(@) Freedom to decide what he is able to
(b) More days of work and better wages
() Less days of work

(

d) Good climatic conditions
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10.

11A.

11B.

11C.

12A.

12B.

13.

14.

15.

frfafad sl § 9 9 %o, foi & % gy § odt 872
() IR YSTT W TR 1 T B ¥

(b)y  ferRier gt W AT SAeran sHEdfl 1 TfHE B §
() TR 9+t HaTE YeH &l

d) A AT T HAF TEI ek 5 T §

Which of the following is true about the private sector ?

(@) Governments owns most of the assets

(b) Individuals or companies own most of the assets
(c) Services are provided by the government

(

d) The main purpose is not to earn profit but public service.

YT 1A 9 TeS F T H, W AN FRY YRR SR q WiRiaE GO H ae
Y Siieid SR /AT ST § 7 ATl hifsTy |

How were the silk routes a good example of vibrant pre - modern trade and
cultural links ? Explain
AASEYOR

18 ff 3rdTed] | U SRRl shl S@ell 7 fhe YohR il ST SN bl SIS TH31 5
Tcdeh | T S&TT SR &1 § Jfg 2

How did a series of inventions in the 18th century increase the efficiency of each
step of production process in the cotton textile industry ?

AAGYOR
I | TR ST el A R T 7 SHER A% R 917 T AN R § 1 g9
gl ?
When was the Rent Act passed in Bombay ? What was its aim ? What was the
impact ?

=1 T g9 W & S Al SUE o T W AT TEU1 S S oF o g o SR
jteny

Give any three reasons favouring shift from hand printing to mechanical
printing in China.

74T/ OR
3Tk TATS I 3T R ST ST aret fon=di A el st s swifag |

Explain any three main contributions of novel to modern society.

AR shl GHET %1 §H hT TR 81 L Thd B 2 <hIS 14 SUTE YHABT |

How can we solve the problem of land degradation ? Suggest any three
measures.

IR H a1 a1 9 WVTET o1 W&t 9erl + ford yehr foran § 7 =men wifve |
How have communities conserved and protected forests and wildlife in India ?
Explain.

IgIST ufrerrs qen faener el & fodie qen aRfdero & & a1 SR we
SIS |

Explain any three reasons for the multipurpose projects and large dams coming
under great scrutiny and opposition.

1+1+1=3

3x1=3

3x1=3

3x1=3

3x1=3
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16.

17.

18.

19.

20.

21.

22,

23A.

23B.

23C.

UG H geferd a9 STTHUeol UGd bl S Yol 1 999 Sifsa |

Describe the working of the Roof Top Rainwater Harvesting being parctised in
India.

SicienT 1 GLhR ford Fagid Rl ST A Y I hL W &7 90 ShifsiT |

What is the principle that is being followed by the government in Sri Lanka ?
Describe.

AfSTer a1 aht TSI o 9RomEl sl fHifa e ot fodl T Rl &1 Soorg
Hiferg ?

Mention any three factors that determine the outcome of politics of social
divisions.

qrTfeieh fafieraieti o s qer <ol § 3l T hife |

Distinguish between overlapping and cross cutting of social differences.

fafim i =1 avffertor & & faq fava S g1 W& fve SHemel q&1 A st
AT I |

Explain the main criterion used by World Bank in classifying different countries?

IRA H qelTaeh &5k a1 Hacaqul il ol S @I © 2 TS i SR T HIfT |

Why is the tertiary sector gaining importance in India ? Explain any three
reasons.

TeH SUSTIRT 9 1 ATMYE €7 T9 hl WW i % fOU T 9" v 9§
Th-Teh 3aeLYl SIfTT |

What is meant by disguised unemployment ? Give one example from rural and
other from urban areas .

‘R 1faere 't ufymor faflgw) ara 9 9 =R e @ 29 et 319
TN U forg YohR &°id 9?7

Define the term trade surplus. How was the income received from trade surplus
with India used by Britain ?

31e0ET/OR

‘goy fava g5 A 9RdE SN % fou U AewE 2 ufifefa S e <1 favem
FHITST foh a8 IR ford TR g3 ?

“The First World War created dramatically a new situation for Indian Industries’.
Analyse how this change took place.
3IET/OR

Selterelt STaTect H olva i SHGE i faR i g3t ? Ty sife |
Why did the population of London city expand over the 19t century ? Explain.

3x1=3

1+2=3

1+4=5
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24A.

24B.

25A.

25B.

26.

27.

28.

29.

30.

31.

He0 & I W Te TR ST B HY FA 9?2 ARG H 0T ht qheAleh T YREA
i TR Y g1 ?
How did the Indians manage before the age of print ? When and how did the
printing technique begin in India ?

37eET/OR
‘IHEE R AR A, fet 3u=g ot Rk ae ugen fean | s A9 39 kY 9§ Hend
£?7 31 IR F "l H 7 v
‘With Prem Chand’s writings, Hindi novel achieved excellence.” Do you agree
with this statement ? Give reasons to support your answer.

ST IRl H, YR Afeenstl W qfad T&iehi hl 91 Y& TSl ? SAREAT il |

What was the impact of printed books on women in India in the 19t century ?
Explain.
31dT/OR

it TemrEeh! &l &sie JTiel § fore T 3= NG o Jaranaal qer 39 &t
RIS & TR H AFRRT I i & U 98 o9 Sd & €9 H S 7 I[E0
TR T I |

How did the colonial administrators find vernacular novels as a valuable source
of information to native life and customs ? Explain with examples.

AR sl 1 Horl WUl Wrerel wEdl & T4 fafEe | 39 wHedl & Scaee Ui
W fafem | g7t YR & fore steress sfiifers aifeufal &1 avi wifse )

Name the two most important staple food crops of India. Name the states where
they are produced. Write the geographical conditions required for their growth.

TE THR T ToF ThR] o o9 faum sifedqal o a9 W0 SicaR okl 90 it |

Describe the three - fold distribution of legislative powers between the Union
Government and state Governments of India.

S HAYITR T 1 90T HIFTT S W h! Teh 9H FU&T T6F o1 © |

Describe the Constitutional Provisions which make India a secular state .

ISR i TeEal § fag Fifve fe o & sifafieq, 39 o faem gt Aewng
e ot B € |

Give examples to prove that there are other important developmental goals than
income.

ITHIoT &l § USTIR & TR 31 S1aeR UM & & faw g uiw geme i)

Suggest any five ways to provide more employment opportunities in rural areas.

()  fGu gy wRa % i @t § A SR B W < daw fafed 3 e g
A= < T SR % SIER WS &I ki gE Y, "Hfas § g fafed
TErel W IR Het A fafa
(A) THHITRN (B)  Th oAl bl YR

2+3=5

5x1=5

1+2+2=5

5x1=5

5x1=5

2+2=4
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3t AFfA R g fAfafEa o STge Hehdl g1 <MEd TH I §el AW
fFI'F@T{ :

(C)  quuEr oYy

(D) Ueh YHY oIS 3cUIqh s

Two features A and B are shown in the given political outline map of
India. Identify these features with the help of following information and
write their correct names on the lines marked on the map.

(A)  Asoil type

(B) A type of forests

On the same political outline map of India, locate and label the following
items with appropriate symbols :

(©)  Tungabhadra Dam

(D) A major Bajra producing state

FrAfeRea a9 o giteantea wdanfest & fag uva wdie 31 % wWF - 4x1=1
‘T{'%:

FTel ga1 forg Ta o Wi St ©2

STH e hYHR § fh8 YR & 99 WY ST § 2

e =iy e T WA ©?

el o ST ScATGh T hi A fafag |

: The following questions are for the visually impaired candidates only
lieu of Q. No. 31.

Name the state where black soil is found.

Which type of forest are found in Jammu and Kashmir ?

Name the river on which Tungabhadra Dam is built.

Name the leading state producer of sugar cane.
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